
NO. QUESTION

1 Discussions on sustainable energy have become increasingly popular amongst policymakers from across the world. Many

people argue that using renewable energy sources, such as solar and wind power, is necessary to address climate change

and reduce dependence on fossil fuels. However, there are also statements that suggest that renewable energy sources may

not be as cost-effective as traditional energy sources.

Which of the following statements, if true, best strengthens the argument above?

A. Renewable energy sources are able to provide a consistent and reliable source of energy.

B. The cost of renewable energy technology has decreased significantly in recent years.

C. Fossil fuels are a finite resource and will eventually run out.

D. Renewable energy sources are a major contributor to air and water pollution.

2 Nations mandate the collection of taxes from its constituent residents for the financial use of its government in its public

services. Economists believe that increasing taxes on the wealthy would be an effective way to reduce income inequality

and fund social programs. However, there are also arguments that increasing taxes on the wealthy would discourage

investment and lead to economic growth.

Which of the following statements, if true, best strengthens the argument above?

A. Countries with higher taxes on the wealthy have higher rates of economic growth.

B. Increasing taxes on the wealthy would disproportionately affect small businesses.

C. Progressive taxation systems, where the wealthy pay a higher percentage of their income in taxes, have been

shown to reduce income inequality.

D. The majority of wealthy individuals would rather pay higher taxes than have the government invest in social

programs.

3 The justice system is a fundamental part of society that addresses criminal incidents and how they handle the perpetrators

of crime to compensate for the damages they impose against their victims. It has been a common belief that criminal justice

reform is necessary to address racial disparities and improve the effectiveness of the criminal justice system. However,

there are also arguments that criminal justice reform would lead to an increase in crime and threaten public safety.

Which of the following statements, if true, best strengthens the argument above?

A. Mass incarceration has been shown to be a costly and ineffective way to reduce crime.

B. Criminal justice reform would lead to a significant reduction in the number of people incarcerated in the United

States.

C. Many people who are incarcerated are serving time for non-violent offences and would be better served by

alternative forms of punishment.

D. Increasing the number of police officers and harsher sentencing policies have been shown to be effective in

reducing crime.



4 Many people argue that the use of genetically modified crops (GMOs) in agriculture is beneficial for increasing crop yields

and reducing the use of pesticides. GMOs are created by introducing a new trait, such as resistance to pests or herbicides,

into a plant's genetic makeup. This can lead to increased crop yields and reduced pesticide use, which can have positive

impacts on farmers and the environment. However, there are also arguments that GMOs can have negative impacts on the

environment and human health. For example, the use of GMOs can lead to the development of superweeds and superbugs,

which are resistant to the pesticides and herbicides that are used on GMO crops. Additionally, there are concerns that

GMOs can cross-breed with non-GMO crops, leading to the spread of genetic traits that may be harmful or undesirable.

Which of the following statements, if true, best strengthens the argument?

A. GMOs have been extensively tested and have been proven to be safe for human consumption

B. GMOs have been shown to significantly increase crop yields and reduce the use of pesticides

C. The use of GMOs can lead to the development of superweeds and superbugs

D. The use of GMOs is a sustainable solution for food security

5 It is believed that a single-payer healthcare system would increase access to healthcare and reduce costs. A single-payer

healthcare system, also known as "Medicare for All," would be a government-run healthcare program that would provide

healthcare coverage for all citizens. This would be funded by taxes and would eliminate the need for private health

insurance companies. The elimination of private insurance companies would reduce administrative costs and increase

efficiency, thereby reducing healthcare costs for both individuals and the government. However, there are also arguments

that a single-payer healthcare system would lead to increased government spending and longer wait times for healthcare

services.

Which of the following statements, if true, best strengthens the argument?

A. A single-payer healthcare system would reduce administrative costs and increase efficiency

B. A single-payer healthcare system would ensure that all citizens have access to healthcare

C. A single-payer healthcare system would lead to longer wait times for healthcare services

D. A single-payer healthcare system would increase government spending

6 Many medical professionals believe that the use of genetically modified organisms (GMOs) in agriculture is harmful to

human health and the environment. One concern is that GMOs may cross-breed with non-GMO crops, leading to the

spread of genetic traits that may be harmful or undesirable. However, there are also arguments that GMOs offer a number

of benefits, such as increased crop yields and resistance to pests and diseases.

Which of the following statements, if true, best weakens the argument above?

A. GMOs have been extensively tested and have been found to be safe for human consumption.

B. The spread of genetic traits from GMOs to non-GMO crops has been observed in a number of cases.

C. The use of GMOs has been shown to significantly increase crop yields and reduce the need for pesticides.

D. There are alternative methods of increasing crop yields and resistance to pests and diseases that do not involve the

use of GMOs.



7 The use of nuclear energy as a source of electricity has been controversial, with some arguing that it is a clean and reliable

source of energy, while others argue that it poses risks to human health and the environment. One concern is the potential

for nuclear accidents, such as the Fukushima disaster in Japan, which released radiation into the environment and caused

widespread contamination.

Which of the following statements, if true, best weakens the argument above?

A. The use of nuclear energy has been shown to significantly reduce greenhouse gas emissions and improve air

quality.

B. The risks of nuclear accidents can be mitigated through the use of advanced safety systems and emergency

planning.

C. The cost of nuclear energy is significantly higher than other sources of electricity.

D. The radiation released in nuclear accidents can have long-term health effects on humans and the environment.

8 The use of artificial intelligence in healthcare has become controversial over the past few years, especially for those who

work in the health sector. Some are arguing that it can improve patient outcomes and reduce costs, while others argue that

it poses risks to patient privacy and may lead to job loss for healthcare professionals.

Which of the following statements, if true, best weakens the argument above?

A. Artificial intelligence has been shown to have the same level of accuracy in diagnosing conditions as humans.

B. The use of artificial intelligence in healthcare has been shown to significantly reduce medical errors made by

patients.

C. The use of artificial intelligence in healthcare poses significant risks to their mental well-being.

D. The use of artificial intelligence is intended to augment and support their work, rather than replace it.

9 Autonomous vehicles, or self-driving cars, have become popularised with recent advancements in technology. It has been

widely discussed on social media in recent times. Most people are arguing that these vehicles can improve safety and

reduce traffic congestion because of the technology’s innate ability to drive on the road without being affected by factors

that lead to human driving errors.

Which of the following statements, if true, best weakens the argument above?

A. Autonomous vehicles have been shown to be less safe than human-driven vehicles in certain conditions.

B. The use of autonomous vehicles has been shown to significantly reduce traffic congestion and improve overall

traffic flow.

C. The use of autonomous vehicles may not be able to detect and respond to certain situations as well as human

drivers.

D. The use of autonomous vehicles does not pose a significant threat to job loss for human drivers.



10 The use of virtual reality technology in education has been the subject of rigorous discussions among educators around the

world. Some people loudly claim that these technologies can improve student engagement and outcomes within school

learning spaces, while others argue that they pose risks to student privacy and may lead to job loss for traditional educators

in the field.

Which of the following statements, if true, best weakens the argument above?

A. The use of virtual reality technology in education has been shown to significantly improve student engagement

and outcomes in a variety of subjects.

B. The use of virtual reality technology in education poses significant risks to student privacy, as personal information

and data can be accessed and shared without consent.

C. The use of virtual reality technology in education provides support for the tasks of educators in their field.

D. The cost associated with virtual reality technology can be too high for many schools and educational institutions to

afford, limiting its potential reach and impact.

11 Many people argue that the implementation of a carbon tax is essential to address climate change and reduce greenhouse

gas emissions. A carbon tax is a fee imposed on the burning of fossil fuels, such as coal, oil, and natural gas. The revenue

generated by the tax can be used to fund renewable energy research and development, and to provide rebates to

low-income households. However, there are also arguments that a carbon tax would be too costly and would hurt the

economy.

Which of the following statements, if true, best strengthens the argument?

A. A carbon tax would provide a financial incentive to reduce the use of fossil fuels.

B. A carbon tax would lead to increased government revenue.

C. A carbon tax would be regressive and hurt low-income households.

D. A carbon tax would have little impact on reducing greenhouse gas emissions.

12 Researchers suggest that the use of blockchain technology will change the way we conduct business and increase

transparency. Blockchain is a digital ledger that is decentralised and can be used to store and record transactions, contracts,

and other types of data. However, there are also arguments that blockchain technology is not yet mature enough to be

widely adopted, and may pose a risk to personal privacy.

Which of the following statements, if true, best strengthens the argument?

A. Blockchain technology has been successfully used in various industries, such as finance and supply chain

management.

B. Blockchain technology is not yet mature enough to handle the scale and complexity of most business operations.

C. Blockchain technology is not secure and can be easily hacked.

D. Blockchain technology is transparent and tamper-proof, which increases trust in transactions and reduces the need

for intermediaries.



13 Experts from various fields believe that autonomous vehicles, such as self-driving cars, will revolutionise transportation and

reduce accidents caused by human error. Autonomous vehicles use advanced technologies, such as sensors and artificial

intelligence, to navigate and make decisions on the road. However, there are also arguments that autonomous vehicles will

lead to job loss and may pose a risk to personal privacy.

Which of the following statements, if true, best strengthens the argument?

A. Autonomous vehicles have been shown to reduce accidents caused by human error

B. Autonomous vehicles will lead to significant job loss in the transportation industry

C. The data collected by autonomous vehicles may be used for purposes other than transportation

D. Autonomous vehicles are not yet advanced enough to safely navigate roads

14 Many people argue that the use of artificial intelligence (AI) in various industries is beneficial for increasing efficiency and

productivity. AI technologies can be used to automate tasks, such as data analysis, and can also be used to make predictions

and decisions based on large amounts of data. However, there are also arguments that the use of AI can lead to job loss and

may have negative impacts on society.

Which of the following statements, if true, best strengthens the argument?

A. AI can be used to automate repetitive tasks, freeing up employees to focus on more complex tasks.

B. AI can improve decision-making and increase efficiency.

C. AI can lead to job loss and may have negative impacts on society.

D. AI can be used to create new jobs and help individuals develop new skills.

15 Many people argue that the use of machine learning in healthcare will improve patient outcomes and reduce costs.

Machine learning algorithms can be used to analyse large amounts of medical data and make predictions about patient

outcomes and treatment options. However, there are also arguments that the use of machine learning in healthcare may

lead to biased outcomes and may undermine the role of healthcare professionals.

Which of the following statements, if true, best strengthens the argument?

A. Machine learning algorithms have been proven to be more accurate than human healthcare professionals in

predicting patient outcomes.

B. Machine learning algorithms can be used to identify high-risk patients and target preventative care.

C. Machine learning algorithms are not capable of understanding the complexities of human health

D. Machine learning algorithms may perpetuate existing biases in healthcare, leading to unfair outcomes for certain

patient populations.



16 The idea of implementing a nationalised education system has been a topic of debate, with some arguing that it can

improve access to education and reduce inequality, while others argue that it would be too expensive and would lead to a

loss of autonomy and choice. Additionally, there are concerns about the quality of education and the potential for a lack of

innovation and creativity in a nationalised system.

Which of the following statements, if true, best weakens the argument above?

A. A nationalised education system would provide universal access to education, reducing disparities and improving

overall education outcomes.

B. A nationalised education system would be too expensive to implement and would put a strain on government

finances.

C. A nationalised education system would lead to a loss of autonomy and choice for students and parents.

D. There are other, more cost-effective and efficient ways to improve access to education and reduce inequality that

do not involve a nationalised education system.

17 The use of surveillance technology in cities has become more common in recent years, with many arguing that it can

improve public safety and assist law enforcement. However, there are also concerns about the potential for surveillance

technology to be used for malicious purposes, such as the violation of civil liberties and the potential for it to perpetuate

biases and discrimination. Additionally, there are concerns about the scalability of surveillance technology and the potential

for it to create a culture of fear and mistrust.

Which of the following statements, if true, best weakens the argument above?

A. The use of surveillance technology has been shown to significantly improve public safety and assist law

enforcement.

B. There are robust regulations and oversight in place to prevent the misuse of surveillance technology for malicious

purposes.

C. The use of surveillance technology has the potential to perpetuate biases and discrimination and should be used

with caution.

D. There are other, more effective ways to improve public safety and assist law enforcement that do not involve

surveillance technology.

18 With the rise of automation in the workforce, many people are concerned about the potential for job loss and economic

disruption. However, some argue that automation can lead to increased productivity and economic growth, as well as the

creation of new jobs in industries related to automation.

Which of the following statements, if true, best weakens the argument above?

A. Automation has led to significant job loss in many industries.

B. Automation has been shown to increase productivity and economic growth in many industries.

C. Automation has led to the creation of new jobs in industries related to automation.

D. Automation has led to a decrease in wages and job security for workers.



19 In the age of social media and the internet, it has become increasingly easy for individuals to spread misinformation and

propaganda. This has led to concerns about the potential for political manipulation and the erosion of democratic

institutions.

Which of the following statements, if true, best weakens the argument above?

A. Social media and the internet have made it easier for individuals to spread misinformation and propaganda.

B. The spread of misinformation and propaganda on social media and the internet has led to political manipulation

and the erosion of democratic institutions.

C. The government and private companies have implemented measures to combat the spread of misinformation and

propaganda on social media and the internet.

D. The use of social media and the internet has led to an increase in political engagement and the empowerment of

marginalised groups.

20 The use of streaming services in the music industry has been the subject of rigorous discussions among musicians and

music executives. Some people claim that it can increase music's reach and revenue because of the ease with which

audiences can be reached online. Many artists can now share their music and be recognised.

Which of the following statements, if true, best weakens the argument above?

A. Streaming services primarily benefit established and popular artists, while making it harder for new and emerging

artists to gain recognition.

B. The revenue generated from streaming is often not enough for musicians to make a living wage.

C. Streaming services have led to a decrease in album sales and physical media.

D. Streaming has led to a decrease in live music attendance and revenue.

21 Many people argue that the use of 5G technology will revolutionise the way we connect and communicate. 5G technology

is the fifth generation of mobile networks and is faster, more reliable and provides a wider range of services compared to

4G. However, there are also arguments that 5G technology will pose a threat to national security and may lead to increased

exposure to radiation.

Which of the following statements, if true, best strengthens the argument?

A. 5G technology has been tested and has been proven to be safe

B. 5G technology will increase the risk of hacking and cyber attacks.

C. 5G technology will enable faster download and upload speeds, which will be beneficial for businesses and

individuals.

D. 5G technology will be the backbone of the Internet of Things (IoT) and will connect billions of devices.



22 Many people argue that the use of virtual reality (VR) technology will revolutionise the way we learn, work, and play. VR

technology creates a simulated environment that users can interact with and experience, making it an ideal tool for

education, training, and entertainment. However, there are also arguments that VR technology can be addictive and lead to

negative impacts on mental health.

Which of the following statements, if true, best strengthens the argument?

A. VR technology has been proven to be effective in education and training

B. VR technology can be used to treat mental health disorders

C. VR technology can be addictive and can lead to negative impacts on mental health

D. VR technology can be used to improve communication and collaboration in the workplace

23 A lot of businessmen claim that the use of drones will revolutionise the way we operate in various industries. Drones can be

used for tasks such as delivery, inspection, and surveillance. However, there are also arguments that drones can pose a

threat to privacy and may be used for malicious purposes.

Which of the following statements, if true, best strengthens the argument?

A. Drones can be used to transport people, which will revolutionise the transportation industry

B. Drones can be used to inspect structures and equipment, which is more efficient and safer than traditional

methods

C. Drones can be used to conduct surveillance, which may pose a threat to privacy

D. Drones can be used to deliver goods and packages, which is more efficient than traditional delivery methods

24 Many data scientists firmly believe that the use of quantum computing will revolutionise the way we process and analyse

data. Quantum computing utilises quantum-mechanical phenomena, such as superposition and entanglement, to perform

calculations much faster than traditional computers. However, there are also arguments that quantum computing is still in

its infancy and its full potential has not been fully realised yet.

Which of the following statements, if true, best strengthens the argument?

A. Quantum computing is still in its infancy and its full potential has not been fully realised yet.

B. Quantum computing has been successfully used to solve complex problems that traditional computers cannot

solve.

C. Quantum computing will make traditional encryption methods obsolete.

D. Quantum computing will revolutionise the field of artificial intelligence.



25 Many people argue that the use of 3D printing technology will revolutionise the way we manufacture and create products.

3D printing technology allows for the creation of complex and customised products, and also can reduce waste and costs.

However, there are also arguments that 3D printing technology may lead to job loss and may be used to create illegal and

harmful products.

Which of the following statements, if true, best strengthens the argument?

A. 3D printing technology allows for the creation of complex and customised products.

B. 3D printing technology reduces waste and costs.

C. 3D printing technology may lead to job loss in the manufacturing industry.

D. 3D printing technology may be used to create illegal and harmful products.

26 The rise of social media’s open usage in the workplace by workers has been criticised for its potential negative effects on

employee productivity and morale. However, there are also arguments that social media can be used effectively for

communication, collaboration, and knowledge-sharing among employees.

Which of the following statements, if true, best weakens the argument above?

A. The use of social media in the workplace has been shown to improve employee productivity and morale.

B. Social media can be used effectively for communication, collaboration, and knowledge-sharing among employees.

C. Employers can implement policies and guidelines to manage the use of social media in the workplace.

D. The use of social media in the workplace has led to an increase in cyberbullying and harassment among

employees.

27 The use of electric cars, such as Tesla vehicles, in the transportation industry has been the subject of rigorous discussions

among car manufacturers and environmentalists. Some people claim that it can decrease pollution and dependence on

fossil fuels because of the ease with which they can be charged. Many people can now drive and be environmentally

friendly.

Which of the following statements, if true, best weakens the argument above?

A. Electric cars primarily benefit urban areas, while making it harder for rural areas to have access to charging

stations.

B. The cost of producing and owning an electric car is often not affordable for many people.

C. Electric cars have led to an increase in demand for rare earth metals, which have negative environmental

consequences.

D. Electric cars have led to a decrease in oil and gas industry jobs, resulting in economic hardship for affected

communities.



28 Telemedicine is the delivery of medical services and knowledge using electronic communication and information

technology. It enables remote admissions as well as long-distance patient and doctor interaction, care, guidance, and

reminders. The use of telemedicine in the healthcare industry has been the subject of rigorous discussions among doctors

and patients. Some people claim that it can improve access to medical care and reduce costs because of the ease with

which patients can consult with doctors remotely.

Which of the following statements, if true, best weakens the argument above?

A. Telemedicine primarily benefits urban areas, while making it harder for rural areas to have access to remote

consultations.

B. Telemedicine often lacks personal touch and the ability to examine patients in person.

C. Telemedicine has led to a decrease in face-to-face interactions between patients and doctors, which can have

negative effects on mental health.

D. Telemedicine has led to a decrease in the quality of medical care.

29 The use of online marketplaces in the retail industry has been the subject of rigorous discussions among retailers and

consumers. Some people claim that it can increase convenience and competition because of the ability to shop from

multiple sellers in one place.

Which of the following statements, if true, best weakens the argument above?

A. Online marketplaces primarily benefit large companies and can make it harder for small businesses to compete.

B. Online marketplaces can make it harder for consumers to determine the authenticity of products.

C. Online marketplaces can lead to an increase in packaging waste and pollution.

D. Online marketplaces can make it harder for consumers to have personal interactions with salespeople and build

relationships with local businesses

30 Resiliency is the ability to bounce back from adversity, to adapt and grow in the face of challenges and stress. It is

considered a vital trait for personal and professional success, as it allows individuals to cope with difficult situations and to

continue to pursue their goals. Resiliency is also important for maintaining mental and emotional well-being, as it can help

to prevent burnout and depression.

Which of the following statements, if true, best weakens the argument?

A. Resiliency can be learned and developed through practice and training.

B. Resiliency is not important for maintaining mental and emotional well-being.

C. Resiliency can lead to an increase in stress and anxiety.

D. Resilient individuals are always successful in achieving their goals.



31 Chiropractors are medical professionals that treat pain and enhance function by using manual methods and providing

advice on how to live a healthier lifestyle. They are very skilled in the treatment of problems affecting the musculoskeletal

system, including headaches, neck discomfort, and back pain. They are categorised as either supplementary or alternative

medicine.

Which of the following statements, if true, best states the main conclusion of the passage?

A. Chiropractors are healthcare professionals who use manual techniques to alleviate pain and improve function

B. Chiropractors specialise in the treatment of musculoskeletal conditions

C. Chiropractors are considered an alternative or complementary medicine

D. Chiropractors use lifestyle advice to improve function

32 When students cheat during their exams, they violate the trust of their teachers and peers, and they also undermine the

value of their own education. Furthermore, cheating can lead to severe consequences such as disciplinary action, which can

range from failing the exam to being expelled from school, or even being barred from attending college. Additionally, it can

damage the student's reputation, which can have long-term negative effects on their personal lives.

Which of the following statements, if true, best states the main conclusion of the passage?

A. Cheating in exams is a serious issue that has a detrimental impact on the integrity of the educational system, as

well as on the student who engages in this behaviour.

B. Cheating can lead to disciplinary action, which can range from failing the exam to being expelled from school.

C. Cheating in exams undermines the value of education and reputation of students.

D. Cheating in exams has severe consequences such as losing the opportunity to pursue higher education or a

professional career.

33 Using a lunch box in school is an eco-friendly and cost-effective way for students to bring their own food from home. This

practice not only reduces the use of disposable packaging and waste, but it also allows students to have a wider variety of

food options and to control their own portion sizes. A lunch box also allows students to bring food that aligns with their

dietary needs and preferences, such as food allergies or vegetarian and vegan options.

Which of the following is the most significant benefit of using a lunch box in school?

A. Enabling students to bring food that aligns with their dietary needs and preferences.

B. Allowing students to have a wider variety of food options.

C. Reducing the use of disposable packaging and waste.

D. Helping students control their own portion sizes.



34 Arcades are a type of entertainment venue, typically found in shopping malls or as standalone businesses, that offer a wide

variety of games and activities for visitors to play. The games in arcades range from classic favourites like pinball and

skee-ball to the latest video games and virtual reality experiences. Arcades also often have prize redemption centres where

players can exchange their winnings for toys and other prizes.

Which of the following statements best explains why arcades are popular among children?

A. Arcades have a wide variety of games and activities that cater to different interests.

B. Arcades offer free prizes for children who play games.

C. Arcades are located in shopping malls, making them easy to find and accessible.

D. Arcades are a great way for children to socialise with their friends.

35 Woodcraft is an ancient art form that involves shaping and carving wood to create beautiful and functional objects. The

craft has been practised by various cultures around the world for thousands of years. Woodcrafts can range from simple

items like bowls and spoons to more complex pieces like furniture and sculptures. The beauty of woodcraft lies in the

natural grain and colour of the wood, which can be enhanced through different techniques such as staining and burning

throughout time.

Which of the following statements best describes the main point of the passage?

A. Woodcraft is a traditional art form that has been practised for thousands of years.

B. Woodcrafts are made only from natural materials.

C. Woodcrafts are mainly used for decorative purposes.

D. Woodcrafts are typically simple objects like bowls and spoons.

36 Creating clothing from waste materials is a growing trend in the fashion industry. This approach is both environmentally

friendly and cost-effective. The use of recycled materials such as plastic bottles, old textiles, and discarded fishing nets

reduces waste in landfills and reduces the need for new raw materials. Additionally, by repurposing these materials, fashion

companies are able to create unique designs and lower production costs.

Which of the following statements best sums up the main idea in the passage?

A. Using recycled materials in clothing production is environmentally friendly and cost-effective.

B. The fashion industry is using waste materials to create unique designs.

C. Repurposing waste materials leads to less waste in landfills and lower costs in the fashion industry.

D. Clothing made from waste materials is a new trend in the industry



37 Exploration of the planet Mars has been a topic of interest for scientists and space agencies for many decades. The planet's

proximity to Earth and its potential for supporting life make it a prime target for exploration. In recent years, several

missions have been launched to Mars, including NASA's Perseverance Rover and the United Arab Emirates' Hope Probe.

These missions have provided valuable information about the planet's geology, atmosphere, and potential for past or

present life.

Which of the following statements, if true, best states the main conclusion of the passage?

A. The exploration of Mars has been a topic of interest for scientists and space agencies for many decades.

B. The planet Mars is a prime target for exploration due to its proximity to Earth and potential for supporting life.

C. NASA's Perseverance Rover and the United Arab Emirates' Hope Probe are the only missions that have been

launched to Mars.

D. The information provided by the missions to Mars is only about the planet's atmosphere.

38 Sea level rise is a significant concern as a result of climate change. According to studies, sea levels have risen by about 8

inches (21 cm) since 1880, with almost half of that rise occurring in the last 25 years. This rise in sea levels can lead to

coastal flooding, erosion, and damage to infrastructure and property. Additionally, it can also have a major impact on

ecosystems and biodiversity.

Which of the following statements, if true, best states the main conclusion of the passage?

A. Sea level rise is a significant concern as a result of climate change

B. Coastal flooding, erosion, and damage to infrastructure and property are the main effects of sea level rise

C. Sea levels have risen by about 8 inches (21 cm) since 1880

D. The impact of sea level rise on ecosystems and biodiversity is minor

39 Mental health awareness is the process of educating and informing the public about mental health and mental illness, in

order to reduce the stigma and discrimination that is often associated with them. This approach has been shown to be

effective in encouraging people to seek help and support, and in promoting better understanding of mental health issues.

Mental health awareness also includes educating people on how to maintain and improve their mental health, such as

through self-care, healthy lifestyle choices, and stress management.

Which of the following best states the main conclusion of the passage?

A. Mental health awareness helps reduce the stigma and discrimination associated with mental illness.

B. Mental health awareness is the process of educating and informing the public about mental health and mental

illness.

C. Mental health awareness is only effective in encouraging people to seek help and support.

D. Mental health awareness includes educating people on how to maintain and improve their mental health.



40 Play-based learning is a method of teaching that involves children learning through play and hands-on activities. This

approach has been shown to be effective in helping children develop important skills such as problem-solving, creativity,

and social interaction. Play-based learning is also beneficial for children’s cognitive and emotional development, as it allows

them to explore their environment and make connections between different concepts.

Which of the following statements, if true, best states the main conclusion of the passage?

A. Play-based learning is beneficial for children's cognitive and emotional development.

B. Play-based learning is a method of teaching that involves children learning through play and hands-on activities.

C. Play-based learning is only effective for children's problem-solving and creativity.

D. Play-based learning is only beneficial for children who are in their early years.


